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Alpha Numeric Symbol Series Questions for SBI PO Pre, IBPS RRB 
Scale I Pre, IBPS PO Pre, Syndicate Bank PO, Canara Bank PO, 
IBPS SO Pre, SBI Clerk Mains and IBPS Clerk Mains Exams. 

Alpha Numeric Symbol Series Set 29 
 

Directions: The questions are based upon the following series. 
 
T % U 4 ) 6 & K Y ^ A 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : E 1 B 5 
 

1.  If all the vowels are skipped from the series then which of the following will be third 
to the left of the tenth element from right end? 

A. @   B. P   C. F   D. 7   E. None of these 

 
2.  How many numbers in the given series are immediately preceded by a consonant and 
immediately followed by a symbol? 

A. 3   B. 4   C. 2   D. None  E. None of these 

 
3.  Four of the following five are alike in a certain way and thus form a group. Which of 
the following does not belong to the group? 

A. 4&U   B. 6Y)   C. 7~P   D. 9EH   E. 15E 

 
4.  What will be the resultant when second prime number from left end is multiplied with 
the first composite number from left end of the series? 

A. 8   B. 12   C. 10   D. 16   E. None of these 

 
5.  Which of the following meaningful word cannot be formed using the letters that come 
between second even number from left end and forth odd number from right end? 

A. Map   B. Palm  C. Glad   D. Flag   E. Play 
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Correct Answers: 
 

1 2 3 4 5 

C E E B C 

 
 

Explanations :  
 

1. Series given :  T % U 4 ) 6 & K Y ^ A 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : E 1 B 5 
 
When vowels are skipped: 
 
T % 4 ) 6 & K Y ^ 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : 1 B 5 
 
Clearly, “F” is third to the left of 10th element from right end. 
 
Hence option C is correct. 

 
 
2.   Series given :  T % U 4 ) 6 & K Y ^ A 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : E 1 B 5 
 

Only one number (given in bold) is immediately preceded by a consonant and immediately followed by 
a symbol. 

 
Hence option E is correct. 

 
 

3.  Series given :  T % U 4 ) 6 & K Y ^ A 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : E 1 B 5 
 
15E is the odd one out as it does not follow the below mentioned logic. 
 
Second element is third to the right of first element and third element is immediate left of first 
element. 
 
Hence option E is correct. 
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4.   Series given :  T % U 4 ) 6 & K Y ^ A 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : E 1 B 5 
 
Second prime number from left end is 3. 
 
First composite number from left end is 4. 
 
Product = 12. 
 
Hence option B is correct. 

 
 

5.  Series given :  T % U 4 ) 6 & K Y ^ A 2 $ 8 L G | 3 M @ F P 7 ! C ~ H 9 Q : E 1 B 5 
 
Second even number from left end is 6 and forth odd number from right end is 7. 
 
Letters between 6 and 7 are – K,Y,A,L,G,M,F and P. 
 
Only “Glad” is the word in which letter ‘d’ is not among the above mentioned letters. 
 
Hence option C is correct. 

 
 

 

 

 

 

 
 

 

 

https://t.me/smartkeedaofficial


 

 

 

https://testzone.smartkeeda.com/Test/Pricing

